PBT Practice Questions Answer Key

1. Use the link to access the patient data set to answer the following question:
https://mdcb.proknow.com/tutorial/patients/5d9cd804ac0008e6205c6235a92660fd/browse

The isodose distribution is a result of which type of planning technique?

wedge-pair
VMAT

3-field CRT

7 field static IMRT
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Answer: C

2. Use the link to access the patient data set to answer the following question:
https://mdcb.proknow.com/tutorial/patients/5d9cd804ac0008e6205c6235a92660fd/browse

Based on the DVH, what is the mean dose coverage to the 100% of the esophagus?

0.5 Gy
3.8 Gy
5.2 Gy
8.7 Gy
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Answer: B
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